Math 2008
Fall 2010 – Test 3
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test. Each question is 5 points.

If you need more space for work, please use the back of page 2, 3, or 4.
For #1-5, model and evaluate. Do NOT use the additive inverse property. Explain your model.

1. (2 × 3
2. (5 × (2

3. 5 ( ((3)
4. 6 ( ((2)

5. (15 ( ((3)
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Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
If you need more space for work, please use the back of page 1, 3, or 4.
6. Solve: 6(x ( 1) +2 = 3(x + 4) ( 10
7. Find a function, f(x), that generates the sequence: 12, (6, 3, (
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8. Find a function, f(x), that generates the sequence: 18, 15, 12, 9, …
9. Use the appropriate algorithm to evaluate: 
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10. Is the following a representation of a function? Explain. {(1, 2), (2, 2), (3, 2), (4, 2), (5, 2)}
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Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
If you need more space for work, please use the back of page 1, 2, or 4.
For #11-13, use f(x) = 3x + 2 and g(x) = 2x ( 1.

11. Find 
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12.  Find 
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13. Find 
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For #14-15, use the appropriate divisibility rule to answer the following. Show work. Explain.
14. Does 3 divide 183415? 
15. Is 312 divisible by 7?
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Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
If you need more space for work, please use the back of page 1, 2, or 3.
16. Show the set of all integers is countably infinite (i.e., show there is a 1-to-1 correspondence 

between ℕ and ℤ). Explain.

17. What is the name of the following property of whole numbers? 

“For all numbers a, b, and c, a(b + c) = ab + ac”
18. Write an expression to represent the following: the sum of three consecutive integers.
19. Write an equation to represent the following: the cost, C, of renting a textbook for one semester consisting of w weeks is $20 per semester and $5 per week.
20. Solve: Ten years from now Alice’s age will be three times her present age. Find Alice’s present age.
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